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fo &%
Mfcc.py

import numpy as np
import librosa

nums = range(0,200)
num = np.zeros((13,70))

for i in nums[1:61]:

y, sr = librosa.load("renamed/Morepork %d.wav" % (i))
mfcc = librosa.feature.mfcc(y=y, sr=sr, n_mfcc = 13)

c = mfcc.shape[1]

if 70 >=c:

#EQRFVT
mfccs = np.zeros(num.shape)
mfccs[:mfcc.shape[0],:mfcc.shape[1]] = mfcc

if 70<c:
#70 VB LIEDERE L THIRR
mfces = np.delete(mfcc,np.s_[70:],1)

mfccs = mfces.transpose()
mfccs = mfces.reshape(-1,)
np.savetxt('Morepork %d.csv' % (i), mfccs, delimiter =",")

dataset.py

import random
import numpy as np
import shutil
import os

#T AT — 9 %R
HEBIETEROBEFIZERTRANTAILY
#EZNLUSMI BB TR TAILY

list =[]

i=1

j=1

kea_num = range(0,200)
H#EBSBTALIN)HIBR

shutil.rmtree("'pos_test")
shutil.rmtree("'pos_train")
shutil.rmtree("neg_test")
shutil.rmtree("neg_train")

#RERLEHT LI N HIRR

shutil.rmtree("pos_train1000")
shutil.rmtree("pos_train1100")
shutil.rmtree("pos_train1200")
shutil.rmtree("pos_train1300")
shutil.rmtree("'pos_train1400")

H#REATALINIEIR

shutil.rmtree(""neg_train1000")
shutil.rmtree("neg_train1100")
shutil.rmtree("neg_train1200")
shutil.rmtree("neg_train1300")
shutil.rmtree("neg_train1400")

HEBDBT1LINIVERN
os.makedirs("pos_test")
os.makedirs("pos_train")
os.makedirs("neg_test")
os.makedirs("neg_train")

H#RERZEIT LN FER

os.makedirs("pos_train1000")
os.makedirs("pos_train1100")
os.makedirs("pos_train1200")
os.makedirs("pos_train1300")
os.makedirs("pos_train1400")

#RENBERT 1L NIERR

os.makedirs("neg_train1000")
os.makedirs("neg_train1100")
os.makedirs("neg_train1200")
os.makedirs("neg_train1300")

os.makedirs(""neg_train1400")
#1 55 60 FTORFATV S LT 10 BEIICAND,
list = random.sample(range(1,60), 10)##tH 2 RFZEE

HTANT =9 EHET — 5 Do
#5205 LERHIICHIBERDESOROERNET ANT =9 74T~ ZOMIEBETT—5~

HIEH)
for k_num in kea_num[1:61]:
if k_num in list:
shutil.copyfile("Kea/Kea %d.csv" % (k_num), "pos_test/pos_test %d.csv" % (i))
i=i+1
else:
shutil.copyfile("Kea/Kea %d.csv" % (k_num), "pos_train/pos_train %d.csv" % (j))
j=j+1

i=1
i=1

list02 = random.sample(range(1,60), 5)

#&Efl
for k_num in kea_num[1:61]:
if k_num in list02:
shutil.copyfile("LTCuckoo/LTCuckoo %d.csv" % (k_num), "neg_test/neg_test
%d.csv" % (i)
i=i+1l
else:
shutil.copyfile("LTCuckoo/LTCuckoo %d.csv" % (k_num), "neg_train/neg_train
%d.csv" % (j))
j=j+1

#&Ef)
for k_num in kea_num[1:61]:
if k_num in list02:
shutil.copyfile("Morepork/Morepork %d.csv" % (k_num), "neg_test/neg_test
%d.csv" % (i)
i=i+1
else:
shutil.copyfile("Morepork/Morepork %d.csv" % (k_num), "neg_train/neg_train
%d.csv" % (j))
j=j+1

i=1
i=1

HIEGIBRE 72 I DS 3DNRIMVERVH L, FHEEY X ICANS,
list01 =[]

list01 = random.sample(range(1,50), 3)

a = list01[0]
b = list01[1]
c = list01[2]

pos_1 = np.loadtxt('pos_train/pos_train %d.csv' % a, delimiter="")

pos_2 = np.loadtxt('pos_train/pos_train %d.csv' % b, delimiter=',
pos_3 = np.loadtxt('pos_train/pos_train %d.csv' % c, delimiter="")

sum = pos_1 + pos_2 + pos_3
X = sum/3

HEBIZ7ANY BBITANTEZNENT 3FEHRIMLEI—DY v NERBEZ L8

HIEBIZERAS LEE@1000
for k_num in kea_num[1:51]:
y = np.loadtxt(‘pos_train/pos_train %d.csv' % (k_num), delimiter='"
D = np.linalg.norm(x-y)
if D < 1200:
shutil.copyfile("pos_train/pos_train %d.csv" % (k_num), "pos_train1000/pos_train
%d.csv" % (i)
i=i+1
else:
shutil.copyfile("pos_train/pos_train %d.csv" % (k_num),
"neg_train1000/neg_train %d.csv" % (j))
j=j+1



if D < 1500:
shutil.copyfile("pos_train/pos_train %d.csv" % (k_num), "pos_train1300/pos_train

#EGIBEIH S LLE@1000 %d.csv" % (i)
for k_num in kea_num[1:101]: i=i+1
y = np.loadtxt('neg_train/neg_train %d.csv' % (k_num), delimiter=",") else:
D = np.linalg.norm(x-y) shutil.copyfile("pos_train/pos_train %d.csv" % (k_num),
if D < 1200: "neg_train1300/neg_train %d.csv" % (j))
shutil.copyfile("neg_train/neg_train %d.csv" % (k_num), j=j+1
"pos_train1000/pos_train %d.csv" % (i))
i=i+1 #EBIFERH S LB @1300
else: for k_num in kea_num[1:101]:
shutil.copyfile("neg_train/neg_train %d.csv" % (k_num), y = np.loadtxt('neg_train/neg_train %d.csv' % (k_num), delimiter=""
"neg_train1000/neg_train %d.csv" % (j)) D = np.linalg.norm(x-y)
j=j+1 if D < 1500:
shutil.copyfile("neg_train/neg_train %d.csv" % (k_num),
i=1 "pos_train1300/pos_train %d.csv" % (i))
ji=1 i=i+1
else:
HIEBIHETA S LB @1100 shutil.copyfile("neg_train/neg_train %d.csv" % (k_num),
for k_num in kea_num[1:51]: "neg_train1300/neg_train %d.csv" % (j))
y = np.loadtxt('pos_train/pos_train %d.csv' % (k_num), delimiter=",") j=j+1
D = np.linalg.norm(x-y)
if D < 1300: i=1

shutil.copyfile("pos_train/pos_train %d.csv" % (k_num), "pos_train1100/pos_trainj = 1
%d.csv" % (i)

i=i+1 HIEGIZRER AN L8 @1400
else: for k_num in kea_num[1:51]:
shutil.copyfile("pos_train/pos_train %d.csv" % (k_num), "neg_train1100/neg_train y = np.loadtxt('pos_train/pos_train %d.csv' % (k_num), delimiter=","
%d.csv" % (j)) D = np.linalg.norm(x-y)
j=j+1 if D < 1600:
shutil.copyfile("pos_train/pos_train %d.csv" % (k_num), "pos_train1400/pos_train
HEFIBER NS L E@1100 %d.csv" % (1)
for k_num in kea_num[1:101]: i=i+1
y = np.loadtxt('neg_train/neg_train %d.csv' % (k_num), delimiter=",") else:
D = np.linalg.norm(x-y) shutil.copyfile("pos_train/pos_train %d.csv" % (k_num),
if D < 1300: "neg_train1400/neg_train %d.csv" % (j))

shutil.copyfile("neg_train/neg_train %d.csv" % (k_num), "pos_train1100/pos_train j=j+1
%d.csv" % (i)

i=i+1 H#EBIFERH S LB @1400
else: for k_num in kea_num[1:101]:
shutil.copyfile("neg_train/neg_train %d.csv" % (k_num), y = np.loadtxt('neg_train/neg_train %d.csv' % (k_num), delimiter=""
"neg_train1100/neg_train %d.csv" % (j)) D = np.linalg.norm(x-y)
j=j+1 if D < 1600:
shutil.copyfile("neg_train/neg_train %d.csv" % (k_num),
i=1 "pos_train1400/pos_train %d.csv" % (i))
j=1 izi+1
else:
#IEBIERA S LLE@1200 shutil.copyfile("neg_train/neg_train %d.csv" % (k_num),
for k_num in kea_num[1:51]: "neg_train1400/neg_train %d.csv" % (j))
y = np.loadtxt('pos_train/pos_train %d.csv' % (k_num), delimiter=',") j=j+1
D = np.linalg.norm(x-y)
if D < 1400: SVMl.py
shutil.copyfile("pos_train/pos_train %d.csv" % (k_num), "pos._train1200/pos_train IMPOrt numpy as np
%d.csv" % (i) from sklearn.metrics import confusion_matrix
izi+l from sklearn.svm import LinearSVC
else: from sklearn.model_selection import train_test_split
shutil.copyfile("pos_train/pos_train %d.csv" % (k_num), from sklearn.svm import SVC
"neg_train1200/neg_train %d.csv" % (j)) import os
j=j+1 import re
H#EBIBERH S LLEB@1200 num = range(0,200)
for k_num in kea_num[1:101]:
y = np.loadtxt('neg_train/neg_train %d.csv' % (k_num), delimiter=",") #IIAFRDT NN
D = np.linalg.norm(x-y) label = 0 #1E47)
if D < 1400: label2 = 1 #&4
shutil.copyfile("neg_train/neg_train %d.csv" % (k_num),
"pos_train1200/pos_train %d.csv" % (i)) n = 100041~ KRkt
i=i+1
else: X_train =[]
shutil.copyfile("neg_train/neg_train %d.csv" % (k_num), y_train =[]
"neg_train1200/neg_train %d.csv" % (j)) X_test=[]
j=j+1 yﬁtest=[]
i=1
=1 HIEGIZRER
dir = 'pos_train%d' % (n)#71LI ) D/ R &G
HIEBIER DS L8 @1300 files = os.listdir(dir)# 774 LD X N &EF
for k_num in kea_num[1:51]: count = 0# 717> ¥ DI

y = np.loadtxt('pos_train/pos_train %d.csv' % (k_num), delimiter="")
D = np.linalg.norm(x-y) for file in files:# 77/ L DI FIN—T



index = re.search('.csv', file)# L3R FH° csv DHLD AR
if index:#Hov 9% NIV NT VT
count = count + 1

count = count + 1

for i in num[1:count]:# 771 L OEIFIN—TF

pos = np.loadtxt( "pos_train%d/pos_train %d.csv" % (n , i), delimiter="")

X_train.append(pos)
y_train.append(label)

HEBIZER
dir = 'neg_train%d' % (n)#7 1L 7N DX &G
files = os.listdir(dir)# 771 )LD A N&ES
count = 0# AV 9 DHERIL
for file in files:# 771 ILOEEFIL—T
index = re.search('.csv', file)# #:BRF 4° csv DED AR
if index:
count = count + 1
#print(count)

count = count + 1

for i in num[1:count]:# 771 LD FI—TF

neg = np.loadtxt( "neg_train%d/neg_train %d.csv" % (n , i), delimiter="")

X_train.append(neg)
y_train.append(label2)

#IEGIT AN

dir = 'pos_test#7 (LI NI D/ &G
files = os.listdir(dir)# 771V DY X M EERG
count = 0# AV 5 DHERIL

for file in files:# 771 DEIZFIN—T
index = re.search('.csv', file)# L3R F ' csv DHLD AR
if index:#HoV 9% NIV NT VT
count = count + 1

count = count + 1#for XD —TEHICEDEZHIT+H]L ELTWD

for i in num[1:count]:# 771 L OEIFIL—TF

pos = np.loadtxt( "pos_test/pos_test %d.csv" % (i), delimiter="")
X_test.append(pos)

y_test.append(label)

#&aflF 2N
dir = 'neg_test#7 4LV M) D/XREEF
files = os.listdir(dir)# 771 )L D) X h&ERG
count = 0# AV 9 DXL
for file in files:# 771 LD FIL—F

index = re.search('.csv', file)# L3R F ' csv DEHEDEIRH

if index:#ho9%hIV N7V T

count = count + 1

count = count + 1#for XD —TEHICEDEZHICH ELTWS
for i in num[1:count]:# 771 VDI —T
neg = np.loadtxt( "neg_test/neg_test %d.csv" % (i), delimiter=",")
X_test.append(neg)
y_test.append(label2)

svc = LinearSVC(C=1.0)

sve.fit(X_train,y_train)

HIRT -5 5NV EAND BE—EEDART —5 EZREA SN
print('Test score: {:.3f}".format(svc.score(X_test, y_test)))

score = svc.score(X_test, y_test)

t = np.loadtxt( "score %d.csv" % (n), delimiter="")

t = np.append(t, score)

np.savetxt('score %d.csv' % (n), t, delimiter =",")

SVM2.py

import numpy as np

from sklearn.metrics import confusion_matrix

from sklearn.svm import LinearSVC

from sklearn.model_selection import train_test_split
from sklearn.svm import SVC

import os

import re

import math

import random

num = range(0,200)

HIZAFEDINI
label = 0 #IE |
label2 = 1 #&4)

n = 1000#1—%")v NERHE

X_train = [J#EI 2 ER
y_train = [[#EIlIES~IL
X_test = [J#7 R ~NEKEH
y_test = [[#F RS~V

HIEBIT AN

dir = 'pos_test#7 (LI N D/ LG
files = os listdir(dir)# 771V DY X NEERE
count = 0# AV V5 DFHAIL

for file in files:# 771 LD FIL—T
index = re.search('.csv', file)# L3R F ' csv DEDERH
if index:#ho> %NV NTvS
count = count + 1

count = count + 1#for XDI—TEHICEDLEZHITHL ELTWS

for i in num[1:count]:# 771 IV DOELIFINV—T

pos = np.loadtxt( "pos_test/pos_test %d.csv" % (i), delimiter="")
X_test.append(pos)

y_test.append(label)

#aFF AN

dir = 'neg_test#7 4LV M) D/XREEF
files = os.listdir(dir)# 771 L DY M &EF
count = 0# AV 5 DFHAIL

for file in files:# 771 LD FIL—T
index = re.search('.csv', file)# 3E3RF ' csv DEDEMRH
if index:#ho>9%NIV Ty T
count = count + 1

count = count + 1#for XDI—TEHICELEZLHITHL ELTVD

for i in num[1:count]:# 77 VDI I —TF

neg = np.loadtxt( "neg_test/neg_test %d.csv" % (i), delimiter="")
X_test.append(neg)

y_test.append(label2)

HEBIHETOA NI DI7A N OBEER

dir = 'pos_train%d' % (#71L VM) D/XREEF
files = os listdir(dir)# 771 L DY X M &EF
pos_count = 0# A5 DFHAL

for file in files:# 771 LD FIL—T
index = re.search('.csv', file)# 3E3RF ' csv DEDEMRH
if index:#ho>v9ENIV Ty T
pos_count = pos_count + 1

print(pos_count)



#pos_count = pos_count + 1#for XD —TEHICEDLEZHITH ELTWD
prediction = svc.predict(X_test)
H#APIBET TS DI71ILOBE RS cm = confusion_matrix(y_test,prediction)#2 &35 % 71
dir = 'neg_train%d' % (M#7 /L7~ D/RREEEF
files = os.listdir(dir)# Z71JL D) A N&ES
neg_count = 0# ho> 9 DXL

for file in files:# 771 OEZIFIN—T
index = re.search(’.csv', file}# AR F ' csv DHEDERH
if index:
neg_count = neg_count + 1

print(neg_count)
#neg_count = neg_count + 1

rnum = 0
#pos_count & neg_count DAEWF/3 &L —TDEHET D
if pos_count < neg_count:
rnum = math.floor(pos_count//3)
else:
rnum = math.floor(neg_count//3)

print(rnum)

rnum = int(rnum)
print(rnum)

pos_num = pos_count
neg_num = neg_count

#or I —FILADEDHDUNE
neg_count = neg_count + 1

pos_count = pos_count + 1
rnum = rnum + 1

list =[]

for j in num[1:rnum]:

HIEBISA TS EFUCAL A
k=j*3

list = random.sample(range(1,pos_count), k)

for i in num[1:pos_count]:#771 LD FIN—T
if iin list :
pos = np.loadtxt( "pos_train%d/pos_train %d.csv" % (n, i), delimiter=',")
X_train.append(pos)
y_train.append(label)
#BPIBETD S HEIICRA
list = random.sample(range(1,neg_count), k)
# print(list)
for i in num[1:neg_count]:#77 1L O FIL—TF
if iin list :
neg = np.loadtxt( "neg_train%d/neg_train %d.csv" % (n, i), delimiter="")
X_train.append(neg)
y_train.append(label2)
svc = LinearSVC(C=1.0)

sve.fit(X_train,y_train)
#HAIRT —9 &SRV EAND E—EBDIET—5. BZEBH SN

score = svc.score(X_test, y_test)

print(score)
t = np.loadtxt( "score %d.csv" % (j), delimiter="'

t = np.append(t, score)

np.savetxt('score %d.csv' % (j), t, delimiter =",")
X_train =[]

y_train = [[##1831t



